Problem #7 

The life of the construction contract is 4 years. The firm used the percentage-of-completion method. Under this method, cash collected and revenues recognized are shown below. Total cost of the project was $ 800,000. What portion of the total cost was incurred each year? 

	
	
	Cash 
	Revenue 
	Cost 

	Year 
	
	Collected 
	Recognized 
	Incurred 

	
	1 
	$100,000 
	$300,000 
	A 

	
	2 
	200,000 
	300,000 
	B 

	
	3 
	200,000 
	150,000 
	C 

	
	4 
	500.000 
	250.000 
	D 

	Total 
	
	$1,000,000 
	$1,000,000 
	$800,000 


Problem #8 

Based on the following information, prepare a statement of cash flows for Year 2. Use the Indirect Method 

The CFS Corporation Comparative Balance Sheet 

As of December 31, Year 1 and Year 2 
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Assets 

Current Assets Cash 

Accounts Receivable Inventories 

Total Current assets 

Property, plant, and equipment Land 

Building and equipment Accumulated depreciation 

Total Property, plant, and equipment 

$10,000 20,000 15.000 45,000 

$30,000 15,000 20.000 65,000 

Total Assets 

10,000 100,000 -10.000 $100.000 $145,000 

10,000 120,000 -20.000 $110.000 $175,000 

Liabilities and Shareholders' Equity Current Liabilities 

Accounts Payable 

Total Current liabilities 

Noncurrent Liabilities 

Bonds Payable
      Notes Payable 

Total Noncurrent liabilities 

      $20,000                                   30,000
        20,000 
                      30,000

         50,000 
                      40,000

         20,000 
                      30,000

         70,000 
                      70,000

         20,000 
                      30,000

         35,000 
                      45,000
         55,000 
                      75,000
     $145,000 
                  $175,000

Shareholders' Equity CommonStock Retained Earnings 

Total Shareholders' Equity Total Liabilities and Shareholders' Equity 

Dividends paid during Year 2 are $ 0. There were no dispositions of property during the year. 

